UNDERSTANDING PRONOUN – ANTECEDENT AGREEMENT

In order to understand pronoun – antecedent agreement, you must first understand pronouns.  A pronoun is a word used to stand for (or take the place of) a noun.
Below are the personal pronouns.  They are called “personal” because they usually refer to persons (except for it, which refers to things).          
 
Look at this sentence. 
             [image: image1.jpg]John saw a man.




 

There are two nouns in this sentence:  John and man.
Either of these nouns can be replaced by a pronoun.  If we replace John (the subject of the sentence) with a pronoun, we choose he, a subject pronoun.
            [image: image2.jpg]He saw a man.





If we replace man (the object in the sentence) with a pronoun, we choose him, an object pronoun.            [image: image3.jpg]John saw him





Bottom of Form

 These sample sentences tell us some important things about pronouns:
        1.      A pronoun takes the place of a noun.
        2.      The pronoun which replaces the noun must agree with it in these ways:
                a)     A subject pronoun must replace a subject noun.
                         An object pronoun must replace an object noun.
                b)     A feminine pronoun must replace a feminine noun.
A masculine pronoun must replace a masculine noun.
                c)     A singular pronoun must replace a singular noun.
A plural pronoun must replace a plural noun.
Thus, in the sentence
                [image: image4.jpg]John hired the woman.





We must replace the singular, masculine subject noun, John, with the singular, masculine subject pronoun, He.  We can replace the singular, feminine object noun, woman, with singular, feminine object pronoun, her.                        
Bottom of Form

 A pronoun can also refer to an earlier noun or pronoun in the sentence.
Look at this sentence. [image: image5.jpg]PresidentLincoln delivered Lincoln's Gettysburg Address in 1863,





     We do not talk or write this way.  Automatically, we replace the noun Lincoln’s with a pronoun.  More naturally, we say

     [image: image6.jpg]PresidentLincoln delivered his Gettysburg Address in 1863,





The pronoun his refers to President Lincoln.
In this sentence, the pronoun his is called the REFERENT because it “refers back.”
We call President Lincoln the ANTECEDENT because it comes before the pronoun that refers to it later.  (ante = “before”)
Thus, the mechanics of the sentence look like this:
           [image: image7.jpg]antecgdent referent

PresidentLincoln delivered RS Gettysburg Address in 1863.

\/ 1

singular singular
masculine masculing





Look at the examples below to see how to choose the right pronoun for two antecedents joined by and, or, or nor.
1.      When two or more singular noun antecedents are joined by and, they make a PLURAL antecedent.  (1 + 1 = 2)
example:
[image: image8.jpg](+1
plural plural
v ¥ v

The bride and the groom took their vows

SR .





NOTE: The plural pronoun their replaces both masculine and feminine nouns.
If both noun antecedents joined by and are plural, then the referent pronoun will also be PLURAL.
        [image: image9.jpg]plural antecedent plural referent

v \
The brides and the groom took their vows

(plural + plural)





2.      When two or more noun antecedents are joined by or or nor, choose a pronoun referent to agree with the antecedent CLOSEST TO THE VERB.                  Examples:
 A.     Two singular antecedents
   [image: image10.jpg]singular  singular singular

Either Mary or Lottise will bring her husband,

antecederts relrent





 B.  Two plural antecedents
       [image: image11.jpg]plural plural  —— plural

M ¥ v
Neither the women nor the men will bring their husbands

antecedents referent





C.    One singular antecedent followed by a plural antecedent
    [image: image12.jpg]plural plural ——plural

v v

Neither Mary or her daughters will bring their husbands

Yame:edems 3 VEVJVEM





D.    One plural antecedent followed by a singular antecedent
    [image: image13.jpg]plural singular singular

v v

Neither the daughters nor the mother will bring her husbands

Yame:edems i VEVJVEM




              In the above examples, C and D are the most difficult because the antecedents have both a singular and a plural noun.  Remember these two guidelines 1.  For antecedents joined by and – always choose a plural referent pronoun. 2.  For antecedents joined by or or nor – choose a referent pronoun to agree with the antecedent closest to the verb.
EXERCISE 1
Directions: Replace the underlined noun(s) in each sentence with the correct pronoun referent.  Write your answers below in the space provided.  
Top of Form

1.      A hospital cares for patients as well as a hospital can.
         [image: image14.wmf]


2.      No matter how hard she tried, Marjorie Roberts could not find Marjorie’s briefcase.
         [image: image15.wmf]


3.      A person who follows a person’s ideals may find life difficult, but rewarding.
         [image: image16.wmf]


4.      Janet, George, and Paula were surprised when Janet’s, George’s, and Paula’s escorts did not arrive on time.
         [image: image17.wmf]


5.      Although it was dangerous, the three police officers kept order until the police officers got some reinforcements.
         [image: image18.wmf]


6.      We felt that Joe followed Joe’s  instinct to uncover the murderer.
         [image: image19.wmf]


7.      Neither the two dogs nor the cat received the two dogs’ or the cat’s food tonight.
         [image: image20.wmf]


8.      Joanne decided that Joanne could not take five courses successfully this semester.
         [image: image21.wmf]


9.      The hungry boy stood at the counter patiently; then the hungry boy gobbled the hot dog and French fries.
         [image: image22.wmf]


10. Either President Bush or the senators will have to give President Bush’s or the senators’ approval for the emergency measure to pass.
        [image: image23.wmf]


Part 2

Some nouns which name groups can be either singular or plural, depending upon their meaning in individual sentences. 
Some examples of group nouns are:
             [image: image24.jpg]club company government family jury team army group




 

Because they can describe either the group as a SINGLE ENTITY (only one – singular) or the INDIVIDUALS in the group (more than one – plural), these nouns pose special problems as antecedents.
However, the following guidelines can help us decide which referent pronoun agrees with such noun antecedents.
First, if we refer to the group as a whole, and therefore, as a single unit, we consider the noun as a singular.  In this case, we use a singular referent pronoun.
Example:
            [image: image25.jpg]The clags s meeting i s scheduled room today

a single unit singular
antecedent  referent pronoun





On the other hand, if we are actually referring to the individuals with the group, then we consider the noun plural.  In this case, we use a plural referent pronoun.
Example:
        [image: image26.jpg]The clags must trn n teirassignments by Friday

more than one individual  plural
plural antecedent  referent pronoun




Here, each member of the class is considered separately.  The students in the class will each hand in a report.
Of course, we can make group nouns plural as well, usually by adding an s.
Some examples of plural group nouns are:
             [image: image27.jpg]clubs companies governments families juries teams armies groups




 

When used in the plural form, a group noun means more than one group.  It naturally takes a plural referent pronoun.
Example:
              [image: image28.jpg]The clbs are holding their meeings today

more than one club  plural referent
plural antecedent




 

Remember these three important points about pronoun – antecedent agreement when a group noun is the antecedent:
1.      Group nouns considered as single units take singular referent pronouns.
(the club uses it ; the woman uses she or her)
2.      Group nouns which consider the members as individuals in the group take plural referent pronouns.
(the club member uses they or their)
             3.      Plural group nouns meaning two or more groups take plural referent pronouns.
(the clubs use they or their)
EXERCISE 2
Directions: Decide whether the group noun antecedent in each sentence means a single unit (singular) or a group of individuals (plural).  Choose a singular or plural referent pronoun to agree with the antecedent.  
Top of Form

1.      The union can do only as much as ______________ members allow.
          [image: image29.wmf]


2.      The couple are separating on _____________ fifth wedding anniversary.
          [image: image30.wmf]


3.      Between shows, crowds always gather at the door, hoping that ____________ may get a glimpse of the star.
          [image: image31.wmf]


4.      This is the army, and ____________ is a fine organization.
          [image: image32.wmf]


5.      She ordered a dozen of the chocolate-filled doughnuts, and ____________ was exactly the right number.
         [image: image33.wmf]


PART 3

Sometimes a personal pronoun may be an antecedent.
In this sentence, he is the antecedent for the referent pronoun his.
            [image: image34.jpg]He saw his history professor





His is both masculine and singular to agree with the masculine, singular antecedent he. 

In the following sentence, she is the antecedent for the referent pronoun her.
            [image: image35.jpg]She gave her cliertt some helpful legal advice





Her is both feminine and singular to agree with the feminine, singular antecedent she. 

In this sentence, I is the antecedent for the referent pronoun, my.
             [image: image36.jpg]After many years, | saw my former husband again





My is singular to agree with the singular antecedent, I.
 

Remember this important guideline:
            A referent pronoun agrees with its personal pronoun antecedent.
EXERCISE 3
Directions:  Write the correct referent pronoun to agree with the personal pronoun antecedent in each sentence below.    
Top of Form

1.      He did __________ laundry.
           [image: image37.wmf]


2.      She sold ___________ car yesterday after putting 120, 000 miles on it.
           [image: image38.wmf]


3.      I could not locate ___________ package in the terminal.
           [image: image39.wmf]


4.      They received an award for ____________ outstanding performance on stage.
           [image: image40.wmf]


5.      Later on we will call ____________ parents to tell them the news.
          [image: image41.wmf]


6.      On Friday I deposited ____________ check into the bank.
          [image: image42.wmf]


7.      Why can’t he find _____________ socks?
          [image: image43.wmf]


8.      Will I be able to use _____________ credit card here?
          [image: image44.wmf]


9.      The assignment required that they write only about ___________ own personal experience.
          [image: image45.wmf]


10. The instructor said that if you write _____________ paper, you are guaranteed at least a “C” for the course.
         [image: image46.wmf]


Part 4
Indefinite pronouns as antecedents also pose a special problem.
Some indefinite pronouns seem as if they should be plural when really they are singular.
Use the following guidelines.
1.      As antecedents, the indefinite pronouns below ALWAYS take a singular pronoun referent.  Look at them closely.
                        [image: image47.jpg]These should be easy to remember.
v

either  anybody somebody everybody nobody each
neither anyone  someone  everyone noone one
other  anything something everything nothing





Examples:
        [image: image48.jpg]Nobody wants his or her name slandered

3 X X
singularindefinite  singular referent

pronoun antecedent

Each of the participants has given his or her approval

3 3 b3
singular indefinite singular referent
pronoun antecedent

Neither of the men looked as if he wanted the job

T X
singular indefinite singular referent
pronoun antecedent

One of the women put her briefcase under the seat

X &
singularindefinite  singular referent
pronoun antecedent





2.  The following indefinite pronouns ALWAYS take plural pronoun referents.
                         [image: image49.jpg]both few many several others





 Examples:
         [image: image50.jpg]The fow who have completed their assignments may leave early.

plural indefinite plural referent
antecedent

The police officer asked both of the witnesses whether they had seen the killer's face.

plural indefinite plural referent
antecedent

Severalindicate that they will be late for their classes

plural indefinite  plural referent  plural referent
antecedent





3.   However, the following indefinite pronoun antecedents may be either singular or plural, depending upon how they are used in a sentence.
                         [image: image51.jpg]all

most some any none





Generally speaking, if one of these indefinite pronouns is used to designate something that CAN be counted, then the pronoun is plural.
If one of these indefinite pronouns is used to designate something that CANNOT be counted, then the pronoun is singular.
Examples:
         [image: image52.jpg]Aliof the voters cast their ballots on Tuesday

plralinddfiite pljal plural feferent
antecedent




In the above sentence, all designates the voters.  Voters can be counted (1 voter, 2 voters, etc.).  Therefore, the plural pronoun their is the correct referent for all.
             [image: image53.jpg]All of the sugar is sillin its wrapper.

) T T
singular indefinite  singular singular referent
antecedent




In the above sentence, all designates sugar.  Sugar cannot be counted (1 sugar, 2 sugars).  Therefore, the singular pronoun, its, is the correct referent for all.
             [image: image54.jpg]After the trip, afi found their way back to the ranch

T T
pluralindefinite  singular referent
antecedent





In the above sentence, all designates some unnamed people (e.g. campers, ranchers). Campers, ranchers – people – CAN be counted.  Therefore, the plural pronoun their is the correct referent for all.
EXERCISE 4
Part I – Directions:
Each sentence below uses an indefinite pronoun as an antecedent.  The indefinite pronoun may be singular or plural.  
1.      A few of the researchers felt that (he or she, they) had discovered a marketable antiviral medicine to cure the common cold.
           [image: image55.wmf]


2.      Neither of the managers planned to keep (his or her, their) inventory lean.
           [image: image56.wmf]


3.      Most of the executives expect modest gains for (his or her, their) firms.
           [image: image57.wmf]


4.      Some of the income will find (its, their) way into the accounts of other companies.
           [image: image58.wmf]


5.      None of the organic farmers felt that an increase in consumer interest would threaten (his or her, their) profitability.
          [image: image59.wmf]


 Part II – Directions:
Each sentence below contains an underlined antecedent and a referent pronoun for it. Locate the referent pronoun and write it  in the space provided.  Then decide whether or not the referent pronoun is correct.  If the referent pronoun is NOT correct, write the correct one in the space provided. 

1.      Few of today’s teenagers are loyal to one brand of clothing even though he or she may prefer one brand to another.
           [image: image60.wmf]


2.      Only one of the managers who gathered at the Ocean City convention expects to pay their expenses.
           [image: image61.wmf]


3.      All of this new market stability owes its strength to a few courageous investors.
           [image: image62.wmf]


4.      Anyone can make a good impression on their prospective employer.
           [image: image63.wmf]


5.      Many of the firms have asked their executives to recruit at local colleges.
         [image: image64.wmf]
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